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NODAL SOLUTION
STEP = 1
SUB = 1
TIME = 0.500E-03
DSUM       (AVG)
RSYS = 0
SMX = 0.531E-03

0 0.118E-03 0.236E-03    0.354E-03     0.472E-03
0.590E-04    0.177E-03       0.295E-03        0.413E-03           0.531E-03

DEC 31 2011
10: 51: 15

NODAL SOLUTION
STEP = 1
SUB = 1
TIME = 0.500E-03
DSUM       (AVG)
RSYS = 0
SMN = -0.141E-14
SMX = 0.141E-14

-0.141E-14    -0.783E-15      -0.158E-15       0.468E-15     0.108E-14
-0.110E-14    -0.470E-15       0.155E-15        0.780E-15         0.141E-14

DEC 31 2011
10: 02: 48

NODAL SOLUTION
STEP = 1
SUB = 1
TIME = 0.500E-03
DSUM       (AVG)
RSYS = 0
SMN = -0.531E-14
SMX = 0.281E-18

-0.531E-03    -0.413E-03      -295E-03       -0.177E-03        -0.590E-04
-0.472-03    -354E-03       0.236E-03        0.118E-03         0.325E-18

DEC 31 2011
10: 01: 07

NODAL SOLUTION
STEP = 1
SUB = 1
TIME = 0.500E-03
DSUM       (AVG)
RSYS = 0
SMN = -0.141E-14
SMX = 0.141E-18

-0.141E-14    -0.78E-15      -0.15E-15       0.468E-15        -109E-14
-0.108E-14    -0.469E-15       0.156E-15        0.780E-15         0.141E-14

DEC 31 2011
09: 57: 16
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